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Q.1 Choose the correct option for the following:. _ 10
...1 Which one of the following is a diasaccharide. ' o
(a) Glucose " (b)Fructose  (c) Lactose (d) Cellulose
2 Manose and Glucose both are ...... . :
_ (a) Epimers - (b). Geometrical isomers. (¢} Mesomers (d} None of above.
3 Glucose reacts with HNO; produced _ Carboxylic acid.
(@Mono (b)Di  (c) Tri (d) Both “a” and “b”
4  Molecular formula of phenanthrene is.............ccceee. .
(a) CiHyz (b) CeHyo (¢) Ci4Hyp (d)Ci6Hie
5 All carbon atomis in naphthalene are _ hybridized.
(a) sp (b)sp’ (c) sp’ (d) sp'd
6  According to huckel (4n+2)rule cyclopentadienyl anion is :
(a) Antiaromatic (b) non Aromatic (¢) Aromatic  (d) None
7  Which of following is the HOMO for Photochemical cychzatxon of 1,3,5
hexatriene. .
@¥ = O, @Y o ()Y
8  How many 7 (pi) bonds in the structure of pyrene? {-= =
(@ 9 (b) 6 (c) 10 (d) 8
9 Which of following dye use in carbonated beverages?
(a) Caledon jade green (b) Tartrazine (c) Direct Yellow (d) None of these
10 Which of the following is independent chromophore
(a) -OH (b)-NH, (c) -N=N- (d) None
Q.2 Answer the following (ANY TEN) : 3 S 20
1 Explain: Osazone formation :
2 What are the carbohydrates YHow they are clasmﬁed‘?
From the following reaction confirm the structure of (+) Glucose?
(i) Presence of -CHO group (ii) presence of 10 alcoholic —OH group
4 Give the synthesis of 1-methyl naphthalene form Benzene
5  Discuss the Nitration of naphthalene.
6  Write note on bucherer reaction
7  Explain the term symmetry allowed and symmetry forbidden.
8  Write the characteristics of pericyclic reaction
9  Sketch the electronic configuration of all the electrons in Ground and excited
state of 1, 3-Butadiene.
10 What are the requisites for a true dye?
11 Define: (1) Red shift  (2) Blue shift
12 Explain the term pigment .Give its application.
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Q.6

Answer the following
Explain Kiliani-Fischer synthesis.
(+)Lactose is a galactoside not a glucoside.
OR
Prove that: (+)- Cellobiose is 4-0 (f-D-glucopyranosyl)-D glucopyranose
Give the synthesis of (-) meso tartaricacid from (+) glueose.
Answer the following
Give Haworth synthesis of Naphthalene.

Electrophilic substitution reaction of naphthalene takes place almost exclusively

at the 1-position.
OR

Give the synthesis of 1,4,9 - trimethy! phenanthrene from 1-methy! naphthalene

and succinic anhydride
Write a short note on aromatization.
Answer the following

DiscusS Woodward-Hoffimann rules for electrocyclic reaction with suitable

example.
Explain the suprafacial and antrafacial modes of cyclo-addition reaction.

OR

Explam sigmatropic reaction.
Thermal cyclization of ethane is symmetry forbidden but photo chemical
cyclization is symmetry ailowed ‘
Answer the following
What are the characteristic properties of fluorescent brighteners? Also give
detail requirements of organic pigments? And synthesis of Mercurochrome &
Disperse Orange-13

. OR
Write short note on Witt’s theory. Also give the synthesis and application for
(1) New Magenta (2) Crystal Violet
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Note:(i) All questions are to be attempted.(if) Figures to the right indicate marks.
Q.1 Choose the correct option for the following: . 10
ol wileuniell 816 As sla@bass 8.
R)IAD (o) g52los  (5) @SS (5) eyl
2 Dol uA oSl ool ... B
@) Afud @) dRRs anuedl  (HAAMA  (5) As ugl «Adl
3 ol ol HNO3 W@ e sl silEA@s ARs Geuwt 52 B
) Woll  (6) LA (8) &UB (5) olal "ul" Ua "ol
4 QotiglRotell BUYYA ©.oorrevreres B.
() CieHp (6) CHyg (8) Cygtino ($)C1sHy6
5 AR ot ot slelet wgRA g0l wd B,
() sp (Wysp® (8)sp” ($)spd
6 ghet ol Pan (4n + 2) Yoo WA NRASAAUTA Soilaa A ®
() Aodl AANEs (@) ollet AAAELs (5) AR (5) A5 URL Al
T ofiRsu wigll 53 1,3, 5 250360 ot HABRsE UASAHBI A WS of S B.
O I N OF 2 () s o
8 wipdlet ol cltnQt Hi d2cll « (pi) oltl wAdl B,
) 9 ) 6 (%) 10 ) 8
9 grollalds lQualll ol Rettuiell 56 staell Guallot iy 8?2
) &3t Bs Aot () 2L2ABe  (5) SLAds A (5) wiell A wgl
10 o2 wleuniad Aol <da AR &
{a) -OH (b)-NH; (¢) -N=N- (d) None
Q2 oflQott ual ol yeror AN (BE UYL ) 20
Lyl 20200t oft ciotiele
2 galasie g 87 bl 1A aollse srai uid B2
3 oAl ulau qi2l a8l (+) of elbiRel YralR §3U,
(i) -CHO 46 o{l 6131 (ii) 1° WAA@AS -OH 4e ol &1l
4 Qooflat diell 1-Rause MA@ o eyt Ul
5 i@el of sllgBatel uA 52,
6 Bucherer UH2l Uz ot clull
7yl e uA AR A yReRd gee duendl
8 Pericyelic uBall ol cua@ szl @l
9 1, 3-Butadiene Hi G AUkl UA AWt Akl olt SAsEAel BASZt 2ol E13L.
0 grye dye 12 AaUEAD g B?
U cgpuey wdl: (1) clel Bse(Red shift) (2) o Qg2 (Biue sift)
12

2016c’) (pigment) 206 UHMA B Aol Gualofldl 20,
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oflAett Wl oll welled Q)

GlAa-d-Bar ddne uwmd.,

(+) Qs A oAU otell W AQsAees B
OR
ol Aott sl oll citel Q)

Reatelos A 4.0 (-D sgRlwadaNele)-p ABluRellos B.AM yraur &3,
(+) o&8lasell () A gledls ARse] AsAner Wi,

ol el U ol weller Q)

AA@e of sladd AAug W,

Aot ol sAsZ U1 Raatuet WGa 1 el w2 RBLe A awa B,
OR
ot Qotl Ul ot wartor wndl

1Rt QA@A U UsRells Aotslsgissuisl 14,9 gablause flottogllot of dsdng
AN
AANeISRatel U2 &5 ollel v,
ol Aetl sl ot waol wid}
dou Geley WA sAsAlaaAsclls uBa gsalS-glgRatott Ralloll Al 531
Hunell: “aasdl-Aslee uBaml Yurl IR u AoztiBlad qlgu”
: OR
oflAatt sl ot weited Q) '
qudl: Ao ARs wBal,
Bvtell Adlet UAsAUBIA A AR YRR B Uq R AuALs WasEsDa6 3l
ARl Hiet B
ol 2ol Wl ot ociiey wll
glRloe Awrellctiotl caills ajguusil g 82 sid@s 2oscelloll Ratdarr ¥3ladl ugl

Atuell? uol M wA Beuy Wdew-13 of AANY )
OR
[Qeatt Raict u2 &5 ol @ull, of| Aol of AN uel GURADL ul wndl

(1) o3 A2l (2) Brect arzde
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